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S t r o n a  2 

(ݔ)ܨ = න (ݔ)݂ dݔ ⇔ (ݔ)ᇱܨ = න (ݔ)݂ ܿ ⋅ (ݔ)݂ dݔ = ܿ ⋅ න (ݔ)݂ dݔ න[݂(ݔ) + [(ݔ)݃ dݔ = න (ݔ)݂ dݔ + න (ݔ)݃ dݔ 
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݅ଶ = −1  ⇒  √−1 = ݅ Dla ݖଵ = aଵ + ݅ ⋅ bଵ 
ଶݖ = aଶ + ݅ ⋅ bଶ  

ଵݖ = ଶݖ ⇔ aଵ = aଶ ∧ bଵ = bଶ 

ଵݖ + ଶݖ = aଵ + aଶ + ݅ ⋅ (bଵ + bଶ) 

ଵݖ ⋅ ଶݖ = aଵ ∙ aଶ − bଵ ∙ bଶ + ݅ ⋅ (aଵ ∙ bଶ + bଵ ∙ aଶ) 
 

ݖ = a + ݅ ⋅ b = [r, φ] = r ⋅ [cos(φ) + ݅ ⋅ sin(φ)] = r ⋅ e௜⋅஦,  gdzie  |ݖ| = r = ඥaଶ + bଶ,   cos(φ) =
a
r , sin(φ) =

b
r 

Dla ݖଵ = [rଵ, φଵ] 
ଶݖ = [rଶ, φଶ] 

ଵݖ ⋅ ଶݖ = [rଵ ⋅ rଶ, φଵ + φଶ] = rଵ ⋅ rଶ ⋅ [cos(φଵ + φଶ) + ݅ ⋅ sin(φଵ + φଶ)] 
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ݖ = [r, φ]  ⇒ ୬ݖ  = [r୬, n ⋅ φ] = r୬ ⋅ [cos(n ⋅ φ) + ݅ ⋅ sin(n ⋅ φ)] 
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Wyznacznik Dopełnienie 

ܹ = det(ܣ) = ተተ
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ܹ = det(ܣ) = ෍ a୵୫ ⋅ ୵୫ܣ

୬
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 ܹ = det(ܣ) = ෍ a୫୩ ⋅ ୫୩ܣ

୬
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Macierz odwrotna, ିܣଵ  ିܣଵ ⋅ ܣ = ܣ ⋅ ଵିܣ = ଵିܣ ܫ =
1

det(ܣ) ⋅ ୨୩൧்ܣൣ
 

Równanie macierzowe ܣ ⋅ ܺ = ܺ ܤ = ଵିܣ ⋅  ܤ
 


